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Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(a) are bad for health

(b) intoxicating drinks

(¢) atall costs

(d) and should be avoided
(D) (d) (@) ®) ()

(2 (©) (a) (b) (d)

(3) (b (@) (d) (©)

(4) (a) (b) (c) (d)

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.

The tourist guide will take you around the town.

(1) You can be taken around the town by the tourist guide.

(2

(3

(4)  You will be taken
Options:-
.1, Option ID :- 5,

« 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

) The tourist guide will be taken around the town by you.
) Around the town you will be taken by the tourist guide.
)

around the town by the tourist guide.

Question ID:- 3




Fill in the blank with the correct preposition.

He is enamoured philosophy as a subject.
(1) towards

(2) for

(3) with

(4) of

Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

The train had left before we could reach the station.

(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect Continuous
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
My friend said to me, “Which play have you seen recently ?’
(1) My friend asked me that which play I had seen recently.

(2) My friend asked me which play had [ seen recently.

(3) My friend asked me which play I had seen recently.

(4) My friend asked me which play I saw recently.
Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6




Identify the part which contains the error.
Unfortunately, / he can’t / hear properly, / is it ?

(1) () (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

- 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
QUELL

(1) torture
(2) defeat
(3) support
(4) subdue
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Choose the word opposite in meaning to the given word.
CALLOUS

(1) kind
(2) cruel
(3) generous
(4) optimistic

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9




Identify the part of speech of the underlined word.

Are you the same PeISON we met yesterday ?

(1) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Identify the clause of the underlined part in the given sentence.

He may relax when he finishes his work.

(1) Adverb Clause
(2) Adjective Clause
(3) Noun Clause

(4) Principal Clause

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PRT24FEBSH2

Question ID:- 11




Frafafaa weris & Sydes Yt ST SMid U9 &t Weldh 3T Sl |

gfte &% Uy @ TR o9 9% & O sfaee T gfeya & § 98 v 9 § 6 e 3 R
Tfig T gC 27U fashry o U o gersd fohen ¥ 1 W o ufiem @ et ® TR oSt 3mR Sitem | = @R
AT Goher fe@E Tedt T Hor | | e, 9i e, 9Yoi wer-+nd, 9% 99fs uigg &
qiomE g1

Yl 1 gerra iR Wi @ g ufgw § €y St €1 fava ¥ e o enfaser gu € wa ufign
FIa WA TR I Ioae vfgss = 57 &1 gyl 979 1 TR 1 9R gu-gaud wE @ faa
Eicik

e 3 29 o & 9y = vy T @
(1) T TG

(2) HEAFIA-HT Hlh

(3) e ufigs ik

(4) TSI ek

Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Freafafaa s &t errgds ggat STuT Snenfia u9s &t 9eis ST S )

gfe % YRY & o oIS a9 % T4 i W gied % ¥ 78 U 9o @ fF o 3 fRa
Tfigm T U o797 ok & ue ol geied fohan €1 o9 & ufedy &1 % € foF ol i Sies | =i @i
ST Gohera fe@re Tedt €1 Hor | | e, it T, 9Yof wer-we, 9% 99fs uigg # d
qftomy g1

Herd! 31 HerHa S it @i High aigw | & wrd B ¢ | fava § foe oft enfaser ge € we ufigw
F 9 WA T T T e wiass = SF & uRgH 9 I HER 5 9E ge-gia = @ fa
EiciEd

TR S 1 ST Sherdr g aftumyg 2
(1) fagm

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,




Answer Given:- 4, Option ID : -48

Question ID:- 13

Freferfiaa Tener #it SaTgdeE UgeRt SO MR UYH T Wetsh IaT g |

gfte & YR | Tk 31§ G o HHAd sfae™ T gftedr & § 98 9 Joral & f6 ama 9
TRy T g AU foshrd o a1 gorsd fomen &1 w9 o wfiam 1 et © R oSt AW Sited | = eI
AT el femE vedt ¥ gar § | oo, ad e, 9ol wa-#ve, 9w ggfs uRkem #
aftoms 1

HEETd! &l HorHa SR yitd o) diel 9igq | 2 g ardl & | fave | fSae +ff snfawpr gu € 99 ufign
o o WA g E | TE Ieae vfasT & SE 81 ufgH U™ & 99N i OR gE-gfaun = & fad
Sl €1

qfg™ gHI B9 1 U R TR § 2
(1) =4

(2) w9f@

(3) FE-gfam

(4) HWwerdl IR Wl
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

‘T O 1 I § ST % i 9IS B R T

(1) s
(2) I
(3) HYeH
(4) SURERH

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15




TEA % STHR T ST e~ ©

(1) aH-aRiE
(2) TW-3W

(3) BE-BEI

(4) HArE-AEH
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

‘5 1 faem ©
() =W

(2 W

(3) =

(4) =T
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

- 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

(1) T
(2) o
(3) 7
(4) wHY
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18




Tl 3 TR WX 2rGTd v T § ¢

(1) G-

(2) Ga-SaH!

(3) FE-FHAEL

(4)  STEHVI-SITEHIT
Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19

"I T e qETeR T2 279 ©
(1) T& %™ T e

(2) H&l HM T H YA

(3) =M fag T F= U

(4) T T UH qEI

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

‘9 Tl T o o1’ A & YR o9 § weeam #

H

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

- 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PRT24FEBSH2

Question ID:- 21




The provisions of the Sixth Schedule of the Indian Constitution do not, extend to the administration
of which of the following States ?

(1) Sikkim

(2) Tripura

(3) Meghalaya
(4) Assam

IR o Hfau™ Fl T3] 75 & 3yl = fawr Frefataa | 9 e 9 F 9owE 9% 986 82
(1) faferm

(2 frgm

(3) HEA

(4) 3HH
Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

Which of the following States in India has the lowest Infant Mortality Rate according to the National
Family Health Survey 2019-21 ?

(1) Goa
(2) Arunachal Pradesh
(3) Sikkim
(4)

4 Kerala

T ER @ g7 2019-21 % TR YR o Fefofad § 9 fmg o= %1 o] 99 € 999 &9
g2

(1) e
(2) 3TEUTEE HeW
(3) Tafern
(4) A
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

- 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23




‘The Declaration of the Rights of Man and Citizen’ is associated with which Revolution and was
later incorporated in the Constitution of that country ?

(1) Russian Revolution

(2) American Revolution
(3) French Revolution
(4) English Revolution

‘fe fesritem 3w e U32g e 47 uoe fofesa’ (qeu 3R Ariier 2 SAfaerii =i =) fg wifd 9
eifera ¥ o4 arg o 39 <91 % dfawm o wnfae faman o ?

(1) &I wifd

(2) eTHfER! wHifd

(3)  wIEET wifd

(4) Sl it
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following is a Ferrous mineral ?
(1) Copper

(2) Bauxite
(3) Lead
(4) Manganese

Frefafad § 4 90 91w degw af= g2

(1) i
(2) TERITEE
(3) HiEn
(4) HHES
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25




Consider the following statements regarding the ‘Bharat Raina’ and identify the incorrect statement.

(1) The award can be used as a prefix or suffix to the recipient's name in accordance with Act
18(1) of the Constitution.

(2) The recommendations for Bharat Ratna are made by the Prime Minister himself to the
President.

(3) The number of annual awards is restricted to a maximum of three in a particular year.
(4) The award does not carry any monetary grant.

‘RE T % WAy H fAefeiEd Al W fgEr SIS 2R TEd %YF S UgEE it |
(1) HfauH % =55 18(1)  SFTHR IR Al AT 71 & ST SAAd I7d o €9 H 35 M F

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Who won the best Female Athelete award in the 36" National Games held in Gujarat in 2022 ?
(1) Maana Patel

(2) Richa Mishra

(3) Shikha Tandon

(4) Hashika Ramchandra

a9 2022 H TSRE H U 364 U @Al H Ga4TS Higdl Udeie % TR R St ?
(1) M 9ea

(2) sEEnfam

(3) Toman ==

(4) &R THEs
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

- 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27




Which Book/Title was awarded the Sahitya Akademi Bal Sahitya Puraskar 2022 in Sindhi ?
(1) Anokhiyun Aakhaniyun

(2) Duniya Baran Ji

(3) Har Hand Tho Tokhe Disan Ma

(4) Mubhinji Gudhi

ol o wifee sreredt aTe Aifec YU, 2022 o gEqen/eiide 1w faan 2

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Consider the following statements regarding Deep Ocean Mission (DOM) launched by Ministry of
Earth Sciences.

(A) Mission will help to develop the potential of the green economy of the Indian Ocean.

(B) Mission is a multi-ministerial, multi-disciplinary programme with emphasis on development
of deep sea technology.

(C) Mission aims to develop capacity building in Marine Biology.
Select the correct answer using the code given below :

(1) (A) (B) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only
(4) (A) and (C) only




gl o Haerd gR1 UE f e € siee foee (Shefiu.) ¥ dey § Frefafed wee w faEr
Hifsa |

(A) =% g feg HerErR =t 2ftd s1efegeree sl Gureadl o faehfyd i § Herad S|

(B) 8 U ag-HaAer, 5o iy ® foed et 9hg aeie o fae W e e e R
(C) 35 4 wHg! Sitel forgm § &men fmior ferepfid s €1

= U T 2 1 WA I g Wl I hl AU

(1) e (A), (B) 3T (C)

(2) e (B) X (C)
(3) A (A) S (B)
(4) A (A) IR (Q)
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

What is/are Pseudopodia?

(1) It is Amoeba’s cell membrane.

(2) Itis Amoeba’s finger-like projections for movement and capture of food.
(3) Itis Amoeba’s food vacuole.
(4)

4)  They are digestive juices that are secreted into the food vacuole of Amoeba.

TTET F E 2
(1) =@ Syeiie =i =Rifern foeet 2 |

(2) FE St H Fer SR Hie F UHen % fon el S vad ¥
(3) I ST T HISH Y B
(4) 3 UrEe TE § S STHIE R S W § enfad g €

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30




Which of the following separation process is used to obtain salt from Seawater?
(1) Sedimentation
Decantation

(2)
(3) Evaporation
(4) Distillation

gl e | 9 U A H ggad Fefafaa geeen uiwm we 9 g 2

(1) srerdE
(2) Treamrm
(3) TR
(4) 3HaA
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_PRT24FEBSH2
Question ID:- 31

How many 3's are there which are preceeded by an even number and followed by an odd
number ?

4 3 1 23383 %88 843 Lo 2D %

(1) 6
2 5
(3) 4
4 3

9 feu v e HE H U 3 & g e & 99 yee |y g @R 9 o favn 9@ e © 2
2

4 3 1 538 3 7Z 9 35 %31 3 239
(1) 6
(2 5
(3) 4
(4) 3
Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122




Question ID:- 32

Ekta is 4 km to the West of Bhavya. Priya is 4 km to the North of Atul. Chetan is 2 km to the West
of Atul. Dinesh is 4 km to the South of Gourav, who is 4 km to the East of Chetan. Dinesh is
exactly in the middle of Bhavya and Ekta. In which direction is Ekta with respect to Priya ?

(1) South

(2) West
(3) North
(4) East

eI, W1 o 4 fR.Hi. ofvg | ) i, oiqe & 4 fR A S A §) 9@, oga & 2 R AL ofem F 8
fewr, v o 4 ot <feror & & Sifes = & 4 T, o & ®1 fenw, e iR wehan o faegper <= # €1
ek, o 1 forg faen | 22

(1) =fago
(2) R=m
(3) IW
4

Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Eight friends P, Q, R, S, T, U, Vand W are sitting in a straight line facing South but not necessarily
in the same order. ‘U’ is sitting fifth to the left of ‘P’. ‘S’ is sitting fifth to the left of “T". “T" is on the
immediate left of 'P’. “W" is third to the right of °S". “Q" is third to the left of "V’. “V" is an immediate
neighbour of ‘P’

Who is sitting to the immediate left of ‘R". ?

H Q
(2 S
3 T
(4) U




e fIa P,Q, R, S, T, U, V 3R W a1t &t 31 Hg ok s dieft ufga & 92 € fohg 9 st ovm H 781 510
F1U, P % I IR Ui ®E W ES §1°S, T % Ol @i Uies H WSS €1 T, ‘P % TheH o
I IW,'S F TRl AR AW WA RISE 1 ‘Q’, V& Il SR A TH AT |V, ‘P & Fheay
et

R 3 wen A SR de

1

[Eo]
o H®o

)
)
)
4)

— — — —
23

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q : What does ‘Ken’ stand for in a code Language ?

I : In the same code language, ‘she is beautiful’ is written as ‘ken rum top’.

II: In the same code language, “weather is beautiful” is written as “top ken dim".

(1) The statement I alone is sufficient to answer the question while statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient.

(3) Both statements I and II together are not sufficient to answer the question.
(4) Both statements I and II together are necessary to answer the question.

A= wek w9 fean e § fSwes o &1 wuA-1 3R 11 e o g, o geies | g SR € T ) 91 ot
FHITS foh A H/A FHT T99 1 I 1 & faw g /2|

T : % 9T H Ken’ &l 1 339 g7

HAA 1 :  IH % 91 H, ‘She is beautiful’ &l ‘ken rum top’ o ¥9 H foran S 51
HYTIL:  SH FZ 99 H, ‘Weather is beautiful’ 31 ‘top ken dim’ ¥ ¥9 H fer@n S €1
1) YA 1 37l W9 &1 ST o4 & U vara € i 9 11 2Thal T3 el 2 |

) O 11 e UV B ST F & fon gty ¥ SefE s 1 ekl vt Td §)

3) YA 1 3R FYA 11, 1 oo I% 1 ST o & fae vard T8 2|

) Y 1 3R FA 11, ST fAee 999 &1 3T 24 & fag o1 2

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,




. 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, Circle represents women, Square represents educated, Rectangle
represents rural and triangle represents teachers.

8
11
5

How many Rural educated Men are there who are not Teachers ?
(1) 9
(2) 11
(3) 13
(4) 15

= feu Tu st ¥, g7 Afeansdi @, ot fofe o, smm awiiol @ SR fas s 1 wfaffae
2l

7
/r

8
11
5
H fore ametor forfem ew & i sreamaes T €2
m 9
(2) 11
(3) 13
(4) 15
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT24FEBSH2

Question ID:- 36




Which of the following is not an input device ?
(1) OMR Reader

(2) Mic
(3) Touchpad
(4) Plotter

Freferfed o | =0 w 57qe feard =2 € 2

(1) 3 T\ AR X
(2) HEH
(3) Z=AUs
(4) X
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which of the following is the largest memory unit among the given options ?
(1) Exabyte

(2) Peta Byte
(3) Mega Byte
(4) Giga Byte

Fr= fou o faredi & & et 99 gfte geifs §2

(1) THHEES

(2) e EEe

(3) WM EEE

(4) T AR
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

- 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38




Which of the following is an Open Source Operating System ?
(1) MacOS

(2) UNIX

(3) Android

(4) MS Windows

frafafes § 9 @ 91 uF Sivq 9™ sAfqfar faweg g2

(1) & st TH

(2) FIfE

(3) TUIES

(4) THTH f5E
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

is an Antivirus software :

(1) Winzip

(2) MS Excel

(3) Mcafee

(4) TUX Paint

T USarRE TR ¢

(1) femfsy

(2) THTH T

(3) HHEI

(4) < U
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

- 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40




Gurdit Singh is interested in creating a project report on a document using an open source software.
Which of the following will you suggest for the same ?

(1) Impress

(2) Calc
(3) MS Word
(4) Writer

Tfed e forsll i | |iveas = 93 o3 el Siagde W U dieise R oM =1 359 ¢ | 39
% fore fopeert gama €912

(1) =54

(2) ik

(3 THUEEE

(4) WA
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Subject : UL_Q41-Q55_PRT24FEBSH2

Question ID:- 41

Which of the following statement is correct ?
(1) Growth includes both qualitative and quantitative changes.
(2) Growth stops after attaining maturity.
(3) Developemnt is not a continuous process.
(4)

4) Development and growth always go hand - in - hand.

freifeRd | 9§ 19 91 FYH W& § 2

(1) dfg ¥ omedes iR aftEmneTes 1 gfteds affad 81
(2) URUEH ® Y F 918 gfg 6k MGl 2

(3) o us wad wfswn 7&f 2

(4) fowm sir Hafg S Hea we-we Ferd 2 |

Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

- 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162




Question ID:- 42

In Proximodistal sequence the development of human beings happens from :
(1) Owuter to inner.

(2) Head to toe.

(3) Centre to outside.

(4) Toe to head.

HrerAifeted o Hn o a1 o 8§

(1) = H fid =+l 27

(2) ¥ g = &R

(3) = aEd e

(4) W F S ot eI
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

A child has learned to crawl without any support or training. This change may be attributed to :
(1) Growth

(2) Maturation
(3) Developement
(4) Learning

areres A T feret T =1 wiveor = & T Eien § 1 98 uiEd Fel S 9ehdl © ¢

(1) s

(2) uR9EEEr

(3) Ta=pm

(4) erfermH
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44




Which statement is true ?

Adolescence stage promotes new relations with age mates of :
(1) same sex only.

(2) opposite sex only.

(3) both sexes.
(4)

4 rich backgrmmd alone.

fr=ifera § 9 oA T FUT WA © 7
fergiraEen ¥ hae GUF 211 F TSt % WY U Gee 1 GadT 2
(1) Ha@ quH T = =afeai & e |

(2) e fawdid fev & =afed & ||
(3) Ml feim & =afwai & T

(4) Ha@ 995 IR At A & i |
Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

According to Piaget, “Concrete operational stage” happens in age group :
1) Birth to 2 years.

2) 2 to 7 years.

3) 7 to11 years.

4) 11 years and above.

o & o19aR ‘gd g waen’ fag o | wfeq a6 82

(1) S92 94 =l A7 a5

(2) 2¥ 794 H Y TH

(3) 7" 11 a9 &l 3 aH

(4) 11 99 3R 3 39 € =l G H
Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46




Children assume affections; camouflage feelings towards family during the age group :
(1) From 5 to 8 years.

(2) From 9 to 11 years.

(3) From 12 to 14 years.

(4) After 14 years.

frreiferd | | forg 3119 e o arei | 9fEr (F2d) & Ufd 99; qerg e fossfad gl © 2
(1) 5% 83H @l Y

(2) 9H 1194 &l 3Y

(3) 129 14 34 =l &1

(4) 1479 % 9]
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

With regard to levels of character development, ‘Self Centred Stage’, refers to the age group :
(1) From 2 to 6 years.

(2) From 4 to 10 years.

(3) From 10 to 13 years.

(4) After 13 years.

Tty T & &R % gy | e fed 9 F Hey fre am i 4 ® 2

(1) 28 6=

(2) 49109

(3) 10 H 13 =

(4) 13 99 % 9¥E
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

- 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48




In the context of emotional development which statement is more correct ?

(1) Moral and religious training should be the sole responsibility of home and society.
(2) Moral and religious training should be left to the choice of individuals.

(3) Moral and religious training should form part of the school programme.

(4) Moral and religious training should be left to the concerned religions.

Heormeres fom & Heol § freiferd § & SH-I wee AAfus 39gw® © 2

(1) Hfas i el gfemn g o) g =t & e 2 =nfew |

(2) Afdes o enfie wfvem e # faseq ® e s =g |

(3) Hfaes siR uifties wftram farne™ & wrEiwn =1 9r e =fen |

(4) Afaer oiv anfifer wftraon w1 gfam Hefud o9 w Sre fean s =nfew )

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Which characteristic may not be possessed by a socially mature person ?
(1) Ciitical of the evils and malpractices in the society.

(2) Indecisiveness at times of crisis.

(3) Adaptability and adjustability.

(4) Respect for the opposite sex.

qrfees €9 9 wftvga el 8, e 8 9 s o T & wed 82
(1) Tur H =28 gueai iR Fhfadi =) st & |

(2) Hhe i FEl H s o i feufa

(3) STTHCFH-FER IR WA FE T A

(4) Tagia-fan « =afwdi & afd 99 & aE

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

- 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50




Human development is a concern of :
(I) Sociology

(2) Psychology
(3) Anthropology
(4) Biology

‘e ferehr’ Freifeee 3 4 foerd el 37

(1) HHSEE
(2) HAfEEH
(3) SIS
(4) e fagm

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

4

freiferd § 9 -9 %Y Fel © 2
5

4  rferart fea Ifg =1 R S )

Options:-

.1, Option ID :- 201,
- 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Which of the following statement is correct ?

(1) Adequate level of intelligence is not a necessary condition for being creative.
(2) One may not possess high intelligence without having creative abilities.

(3) Creativity test also measure speed and accuracy.
(4)

Convergent thinking is the basis of intelligence.

(1) gsHeha 2 & fau v=ie gfgman TR &1 21 AEvEF o 6 € |
(2) GeFRgE drgd & fo safe d = gfgmm =@ § gt €
(3) gerTeiern giamr §, Afq o) wfigga w1 oft are fwa sm 2
(4)

Question ID:- 52




The development of feelings of appreciation and attitude comes under the domain of :
(1) Cognitive development.

(2) Psychomotor development.
(3) Affective development.
(4)

4 Social development.

wuifed =t e AR sfugha @ faee freifea 8 3 frg o & ersfig e 22

(1) HIFARHS o

(2) = o

(3) e fashE

(4) gt faemd
Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
« 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

The teacher’s role in motivation is essentially a matter of :
(1) placing attractive incentives within the reach of the students.
arousing needs in children.

(
(
(4

2)
3) creating new interests.
)

channeling the energies of live and alert students into constructive activities.

SR § syemraan =t fient Hera: feifeea H 3 fergent fawa 82
(1) Ta=nfei = wg= % Hia SERds TR W8 #

(2) el H ST I I

(3) % ®haal U= L H

(4) T AR TS faenfei=i o T sEwed § ¥q % o foe 3 formm St 1 g oo |
galted sl

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54




Fill up the blank :

Schools can be considered group as far as socialising agency is concerned,
(1) primary
(2) secondary
(3) tertiary
(4) supplementary
b T =t qfd FIS0 | Si T WrHrsieR TSiE! o1 ey 2, fagmei #1 HYE A ST Hewdl
gl
(1) w=fTeR
(2) fadiF=
(3) TqaEs
(4) IIH
Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Kavitha is a student who can think logically about hands-on problems and organizes things into
categories and series. Also understands past, present and future. She is at which stage of Piaget’s
stages of cognitive development ?

(1) Sensory motor

(2) Pre operational
(3

(

)
) Concrete operational
)

4) Formal operational

Hforal e s famnedl e5a g9ensii & 9 ¥ difches gft ¥ fHa7 &t wed! © sik =its) o1 gfoel oi)
e H orafied il 81 W € 3W e, gauiq i ufess sy of Twe €, 91 9 A F e
Tereprer o farfemr =l & 9 frg sRor § &2

(1) Heodl T

(2) gE-wiFEIES

(3) A HiwawTH

(4) 3= dikameas
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,




- 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PRT24FEBSH2

Question ID:- 56

Which of the following statement is incorrect ?

(1) Curriculum is prescriptive while syllabus is descriptive in nature.

(2) Both curriculum and syllabus are framed by educational experts.

(3) Both curriculum and syllabus are very broad in nature.

(4) Curriculum includes the planned and guided learning experiences while syllabus presents
an outline of a course of studies.

frefafad § § %F a1 % w6 12 8 2

(1) rem=El fafed gt & Stafw Teussn it | e g €1
(2) TSIl SR UeTsRH, S % deiftren feasies SR SR S ¥
(3)
(4)

3) UISEEl SR UISTHH, S IRl ST i % e ¢ |
4) vt § e o awt fefa siftm sive wfe B9 ¥ S9 o wemsEn serem & e
O FEJd FT 2
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the following is not a characteristic of ‘Assessment for Learning’ ?
(1) It helps identify areas of strength and learning needs of students.

(2) It expects students make errors.
(3) Itisjudgemental.
(4) It permits peer assessment and self assessment.

frfafaa 5 & o ‘aifirm % faw sterem’ &t e oo =& &2

(1) e faenferdi & weeme AR siftrm desft S&i &1 qeamd § el & §
(2) @ e ¥l § Tk faenef eafaar

(3) e fofamess B

(4) % RIS SThe 3R - 3Tehe i ST Sl |

Options:-
.1, Option ID :- 225,
« 2, Option ID :- 226,




. 3, Option ID :- 227,

- 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Which one of the following does not fall under ‘Competency based approach” ?
(1) Seeking peer assistance

(2) Learning at own pace
(3) Memorizing formulae
(4) Practising mastery learning

frefafaa § 9 = <arar smenfia Surm ' & Sfaid e ST & 2

e =l A1E FHE
YTl STFERTH SRl S8R HEAT

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Experiential learning is not preferred because :

(1) It encourages self directed learning,

(2) It focuses on process of learning and not on the outcomes.
(3) Itincorporates differentiated instruction into the classrooms.
(4)

F

ICT is used extensively.

‘arTETesR At SR wefHeRa e < S € i

(1) e @-fEfm eiferm &1 aear ST 8 |

(2) =% ST i YR W e S © A TR sweR et 9t
(3) % e § Ut ey FI wivd T B

(4) I HI 31 & =AE T H GAN fRA1 S 2

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,
« 4, Option ID :- 236,




Answer Given:- 3, Option ID : -235

Question ID:- 60

What will be your approach if a student interrupts in your class ?
(1)  You will ask him to leave the class.

(2)  You will give him extra homework.
(3) You will ignore him/her.
(4)  You will assess her/his reasons and address the same.

7fg ohrg faemeft sTqert e H SIGH Sc99 AT o SR 91 giRZeRroT 2T 2
(1) 319 3 & & 9L ST &l Fadl |

) o 3 il Teed €

) A9 3R] ASHGTS i |

) 31T 3W FREON AT SR FE1 AR SHH FHEE R4 |

(2
(3
(4
Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

- 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Read the following :

(A) Teacher plays the role of facilitator.

(B) Students, mainly work collaboratively.

(C) Assessment is bench marked.

(D) Products are subsumed by process consideration.
These characteristics represent-which approach ?

(1) Cognitivism

(2)

(3) Behaviourism
(4

Constructivism

Rationalism




frefafaa =1 ufew

(A) 3TeaTTe giae-yam St ftest fam 2

(B) Toenefi geasn wefir & =M |

(C) e Few-fafea (S=mmeh) 2 &

(D) wfsFa o fomiR & & g1 396l =l wftaferd &2 foren s 2

3 fagroand fomg SurTy w1 e &2
(1) HIFARHS
(2) THAH®
(3) THIERIHS
(4) deRicHF
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

- 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which of the following is correct ?
(1) Assessment refers to a process by which attributes of some phenomena are quantified.
(2) Assessment is a process by which information is obtained relative to some known objective.

3 Assessment refers to value judeement made on a phenomena taking into consideration both
judgs P 8
quantitative and qualitative information.

(4) Assessment is a process of examining students and awarding grades.

Frefafea § 9 & @ wed 22

TR e Uik & foraeh gr e ufigwl < Ton o1 qfearor Sy S € |
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Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
- 3, Option ID :- 247,

- 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63




Which one of the following is not a characteristic of a teacher made test ?

(1) It covers limited number of competencies.

(2) It may help identifying learning difficulties of the pupils.
(3) It can contain variety of items.

(4) It may be used for wide ranging Comparisons.

freferfad o | o1 Tk SeATeh SR ST T gEeqor <kl fersredr @ 7 2

(1) =% Gifee o § Qe s wer S ¥

(2) e faenfei 1 siform St HfeTsai 1 g9 w3 H Fera F §Fdl 6
(3) zuH fafvs wer o wea wnfie & T E1

(4) TH ATE JEA B o TR H AR S Hehl 7 |

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Read the following :

(A) Student does assignment in her/his own pace.

(B) Student follows the instructions of teacher carefully.

(C) Student shares the ideas with others.

(D) Students are achieving wide range of educational objectives.
Out of these which statement is true about individualized learning ?
(1) (A)

(2)  (B)
3 (©
(4) (D)




(1) (A
(2) (B)
3 (©
(4 (D)
Options:-

« 2, Option ID

. 4, Option ID

. 3, Option ID :-

firefetfiaa =1 afeu :

(A)  Torenedf st wifa & fean wn sl (wEmETHe) @d )
(B) Tamnefl s1eayes % STRYI 1 HEUFIGES Iier Hd ¢ |
(C) fomneft e197 fomm gad % e A wd €

(D) Toremeft warues Jeforer S2va e o W@ ¥

T HYA H Y M W HYH Aok M % O H wd 82

.1, Option ID :- 253,
- 254,

255,

- 256,
Answer Given:-

3, Option ID : -255

= 2

Options:-
.1, Option ID :-

. 2, Option ID :-
. 3, Option ID :-

« 4, Option ID :-
Answer Given:-

Question ID:- 65

Which is not essentially required for preparing a scheme of lesson ?

(1) Number of working days in the school during an academic session
Number of days of school vacation

(2)
(3) Number of days spent for canducting annual examination
(4) Number of periods available for teaching the particular subject

13 A1 TR A o fo eif e w9 § fraeht seavsshar 72 82
(1) T el 99 & <A e § e fiadi & 9@

(2) Toeme™ H staem & el 1 gen

(3) =nftier TN sAEfera e | s ol 6 Hem

(4) T a9 fawg =i vgm % fou sy fifmel =t gen

257,
258,
259,

260,
2, Option ID : -258

Question ID:- 66




Which one of the following is not true ?

(1) Learning isa process in which the individual acquires various habits, knowledge and attitude.
2

(2)
(3) Learning is relatively permanent change in personality.
(4)

Learning is the process of inducing creativity among children.

Learning is a process by which behaviour is originated or modified through training;

Frefafea 5 9 = 1 98 T8l 2 2

(1) eferm us wisn & forad us =t e oned, 99 oir afvgfa eifdfa s &

(2) I = H ARl S SURE i S U Ui

(3) ferm =afee o eTiemERd Tt UfEd e E

(4) =Aferma U gfshan B foeek g0 9iorem o wrean § oaer o 39y el uRafdd fean s g

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

How many behaviours be included in single observation so that it is more scientific and valid ?
(1) One or two

(2) Three
(3) Four
(4) As many as desired

Tehel 3feehT § foran saerr wifhe faee S @ifr o= etfres Sanfae ik Ay &1 952

(1) TH Y=

(2) =

(3) =R

(4) 5 ot =18 3
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68




What is not an advantage of similar ability grouping ?

(1) Possibility of designing remedial activity

2

Reduction of ability gap between groups

]

)
) Learning at Children’s own pace
)

(
(
(

e

Possibility of more cooperation among group members

T FRI] THE 1 Teh o1 1 78 ¢ 2

) SUANHS foRan fAHor S Here

) TR % i A AT

3) @ I ST T T A

) TR F WeHl F o9 e wedm il "o

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

Which one of the following may not be a part of strategy for ‘Assessment of Learning’ ?
(1) Observation |

(2) DPeer Assessment

(3) Students’ responses (oral and written)

(4) Analysis of student’s work

Trfafaa § 9 = aftrm o serer’ it w5 i 1 T 9T T8 8 9har e 2

(1) eTEcrs

(2) EBUR! SFHAT

(3) forenfeidi =1 wfafsran (Hifes oiv fafeqd)
(4) fa=nfeli o = =1 fawemm
Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70




A mentally challenged child can :

oy

attain mastery like any other child.
not attain mastery at all.

2

attain mastery but would need more time.

——, — —
= L 2
—_— e N N

attain mastery with alternative suitable environment and method.

HHAMS ®Y9 H HASAN A

(1) o1 fopeft arerer S yeitora e1fdel Y T ¢ |

(2) Taeige i gt sifae 2 & ehell § |

(3) YEtUre BT =Y Heha B fohd 39 siferss 99y =i AeEggehdl 2l |
(4) SeRfeus Iugaa amaERy siR fafy ¥ geivmn sifaa w2 gt €1

Options:-

.1, Option ID :- 277,
- 2, Option ID :- 278,
. 3, Option ID :- 279,

- 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT24FEBSH2
Question ID:- 71

Regular meditation helps in :
(1) Spiritual health

(2) Mental health

(3) Physical health

(4) Social health

frafia e forad Teraa = § 2
(1) stenfes wmeg |

(2) HFAfEE =@ |

(3) HIRE wWeem |

(4) HHEISE @A o

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72




Who is eligible for free education among disabled children according to PWD, BILL, 2016 ?
(1) Children in the age group of 0 -14 years
(2) Children in the age group of 6 -14 years
(3) Children in the age group of 6 -15 years
(4)

4)  Children in the age group of 6 -18 years

1. v =fe fadms (PWD Bill) 2016 % 1AR :915 aretshl § $H f7:3[c fo1e w77 & ghgR &2

(1)  0-14 94 &% HAF-R & T=

(2) 6-14738 & Y- & A

(3) 61544 % -1 o F=

(4) 6-18 T8 & - & T
Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

The role of schools in addressing disability related issues is

(1) apathy

(2) sympathy

(3) giving equal opportunities without any discrimination
(4) empathy

ST Hedt qegi & g § fornei #i i €

(1) eI
(2) WYl
(3) T forefl Sigma & |t A1 HHM AT <1
(4)
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74




What is mental health ?

(1) Psychological - social well-being

(2) Itis cognitive, behavioural and emotional well being
(3) Itis social, behavioural well being
(4)

4) Itis psychomotor - Physical well being

THAfEE W FE 7
(1) TN Qs Taeerd

(2) HIAFICHS, AT S HIaHIcH: ]
(3)  HHISTh-sqaBRITd Tl

(4) HATIT-ARITE SR

2

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
. 3, Option ID :- 295,

- 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What is ‘Hydrocephalus’ in mental health disorder ?
(1) Mental Retardation with Low LQ.

(2) Hormonal imbalance
(3) Large headed condition
(4) Itis a cranial anomaly leading to accumulation of fluid in brain.

qEfgF @ fawr § ‘soid’ (zEeifaray) & a9 #n g ?
) % dfgafe arell AHfE® ded

(2) BEM SEgeA

(3) e erafrafa

(4) WfETeh § e a1 T B aTal e SrEtd
Options:-

.1, Option ID :- 297,

« 2, Option ID :- 298,

« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76




Poor handwriting is the characteristic feature of
(1) Dysgraphia

(2) Dyslexia

(3) Dyscalculia

(4) Dyspraxia

T o fagent T fagm &2
(1) Temnfrn

(2) Tewdfesan

(3) Tewshegiemn

(4) Teaufewrm
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

Question ID:- 77

Schools are facing challenges in addressing mental health issues due to :
(1) Shortage of funds

(2) Lack of professional experts

(3) Lack of awareness

(4) Illiterate parents

forenme™ fhger wRU qFfae @ el qedl & gagm § FAlfadl o e @ E 2

(1) == =t HH

(2) SerER foeivs ot &

(3) SIFTESRAT hl FHHI

(4) Trer wHmEr-fuar
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78




is the example for intellectual disability.

(1) Low vision

(2) Locomotor impairment

(3) Low hearing

(4) Autism

g ST 1 Ush IO ohiH 91 & 2

(1) =4 3
(2) iR affd
(3) HH a0 ek
(4) TSl

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

Loss of body part is known as :
(1) Handicap

(2) Disability
(3) Disorder
(4) Impairment
YRR % TRl WrT 1 B e @
(1) Te=mretma
(2)  STEFEE
(3) fa=hr
(4) &
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80




The basic principle of counselling in school is :
(1) Co-operation

(2) Empirical Evidence

(3) Acceptance

(4) Data Collection

Toeme™ § wmsl <7 %1 g fagia § -
(1) Heam

(2) STIHES |Igd

(3) T

(4) ST HUE
Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

- 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT24FEBSH2

Question ID:- 81

A teacher as a leader may not be associated with which of the following ?

(1) Annual calendar planning
(2) Coaching

(3) Mentoring

(4) Initating

= 1 9 579 % W19 31ea9% TF Sciemal & B9 H SS1 Tl 8 Hehdl © 2
(1) @t He-et & |

(2) wIfETH

(3) FETEEHH

(4) TESRAl S H
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82




Academic participation of all learners is best ensured by :

(1) Team teaching

(2) Team building based teaching
(3) Field trip method of teaching
(4) Demonstration method

Tt siferm Faiedl 1 sTeeHIA YRTeR] Faias TR w9 gffeaa &1 s el © 2
(1) =9e foem g

(2) HgE fmior smenf g
(3) Y= gR fargrn
(4) v fafy gro

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

A good teacher should always be :
(1) Transformative

(2) Strict to the rules
(3) Friendly
(4)

4)  Jovial

e forer =l H3d 1 A =ity ?
(1) gREdiea

(2) Tl % gfa v

(3) SR

(4)  wHsTfeRa
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84




What is not the part of instructive role of a teacher ?
(1) Using easy language

(2) Giving detailed information

(3) Clearing doubts

(4) Evaluating

U SPeAe Fi s yfien @ fewm n R 2

(1) HTA W &1 3TN FEAT

(2) forega g <
(3) VRIS = FHHM HEA
(4) HeHHT HE

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

A school principal suggested four ways of vision building among teachers. Which one you consider
the best ?

(1) Visiting near by schools

(2) Knowing expectations of parents
(3) Reading book on some top schools
(4) Discuss with experienced teachers

TS UETEATTE A el | gfieson faio 3 9) 9 S ) S SER Faiy S § 2
(1) T2 % el | ST

(2)  SAfquTeRi 1 STERIENET 1 S

(3) T i Whell T YwH TG

(4) ST ToeeRl 9 == S
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86




Whom will you not include in creating a school development plan ?
(1) A first class passout in educational administration

(2) Staff members

(3) Talented children of your class
(4) Weak children of your class

Teh T Tk A1 o § A R et 2 6 2
(1) Thell JemeH | 9om 9oit § U U =Afa

(2) ¥TF o Hed

(3) TR THET % BARER =

(4) HTR! HE H FHSR g
Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

- 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which one of the following is not a teacher development forum ?
(1) Subject Clubs

(2) Parent Teacher Association
(3) Teacher Association

(4

Inservice Teacher Workshops

= 8 § % v e fasm o1 09 18 8 2

(1) foog Fa

(2) SAfqvmEes foeres wfafa

(3) e O

(4) Harerey e wrvmen
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88




In class V time table, which subject should be taught in first period ?
(1) Drawing and Painting

(2) Physical exercises

(3) Moral education
(4)

4 Mathematics

w1 UTe B Ugel Hrenyl ° forw faw =1 vewn s =ty ?

(1) TesreRen
(2) Wi =
(3) Afae fven
(4) TIford
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

Which one of the following may help maximum in developing thinking and reasoning ability
among students ?

(1) Essay writing

(2) Teaching topics on space science
(3) Learning Biology
(4) Learning History

e H fo=A IR gEuts famfad =@ § 9 5 9 38t gaifas 920s 8 951 82

(1) Ter o
(2) eFafe fagm & e qgm
(3) fa fagm Hrem
(4) sfaem wam
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90




Which one of the following is not a learning community ?
(1) Discussion groups in localities

(2) Faculty development programme group

(3) Discussions in school development plan committee
(4)

Discussions in parent teacher meeting

= 1 | #F uE A IeE 1@ 2 ?
(1) =il % F= 998

(2) Hewr o sy 998

(3) Thel fasm A afafq = ==
(4) fvaraes el wt Sewi | ==l
Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT24FEBSH2

Question ID:- 91

After independence the issue of untouchability has been best addressed by whom ?
(1) Constitution

(2) School

(3) Religious bodies

(4) Mass Media

AT o UYET GG o e, Tl [ Y 3T=8 T8 H Gl § 2
(1) Hfaus

(2) %pd

(3)  wnfHer HEgH

(4) YAR-YHE HiETH
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92




The concept of integrated curriculum implies that :

(I) Teach physics and maths together

(2) Do not go for teaching specialized subjects

(3) Teach all subject based aspects of a topic at the same time together
(4) Teach knowledge, skills and attitude together
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Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

Which of the following proficiency should be strengthened first at primary school level ?
(1) Social Science

(2) Science

(3) Environmental Science

(4) Language and Maths

yrifirer ®R W e | 9 forw QUi w1 Aeed S W Uge S ol =i 2

(1) S fagm

(2) foam

(3) TATEY fagH

(4) o SR o
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94




What do we mean by pedagogy ?
(1) Education

(2) The art of teaching.

(3) The science of teaching.

(4) The art and science of teaching.
foraqor s (TemTs) | THART R A9 € 2
(1) Toem

(2) Toreror =T =en

(3)  Toreror =h1 fomma

(4) e =i wen ol famm

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,

- 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

When an act for the right of children of 6 - 14 years of age was made ?

(1) 1986
(2) 1992
(3) 2006
(4 2009

6 - 14 99 o STcteh] & AfmRl A defug afaf=e & 5912

(1) 1986
(2) 1992
(3) 2006
(4) 2009
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

- 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96




Which document talked of developing and popularising of reading and using of interesting books
besides text books at school level ?

(1) Kothari Commission

(2) NPE - 1986
(3) NCF - 2005
(4) NEP - 2020

oAl T I ISR ¥ 30 Ug SR WA & fore wfayel gee & famm @R demfim a5 a fee
TEAS H Fal M 2

(1) wRIBA AEM

(2) NPE-1986

(3) INCF-2005

(4) NEP-2020
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

Which document introduced work experience as a compulsory activity at school level ?
(1) Kothari Commission

(2) Acharya Ram Murti Committee

(3) Yashpal Committee

(4) NCF - 2005

el T W FEAYE 1 A fRasary sF # fFE gwaes § e Tl

(1) =Ierl AR

(2) smEE W A e

(3) A FHI

(4) TAHLTF.-2005
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98




Which of the following type of evaluation should be discouraged in school context ?
(1) Comprehensive evaluation

(2) Continuous evaluation
(3) Summative evaluation
(4) Formative evaluation

el & dedl § f= § 3 forg yoRR F godish &l garedied e e ?
(1) =9 Gedish
2) Had HediwA

(2)
(3) HehaHS HoAiHA
(

4)  HIEATHE Hodich

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Which commission gave the idea of multipurpose schools ?
(1) Kothari Commission

(2) Mudaliar Commission
(3) Birla Ambani Commission
(4) Mandal Commission

Fg3evdr formei @1 faar forg s = fean ?
(1) =Ierd A™EM

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100




As per NEP-2020, children of age 3 - 8 will come under :
(1) Pre Primary stage
(2) Preparatory stage
(3) Foundational stage
(4)

4 Lower Primary stage

NEP-2020 % 38R 99 3 - 8 % o= fohe T | 1] ?

(1) 9o Wi R

(2) T TR

(3) TG &R

(4) =1 mafies w1
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

- 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120_PRT24FEBSH2

Question ID:- 101

Freafafaa weis it o gds dget SHUT ST U9H T 92l ST e

TR 99§ IR = $R W 99wl g | sifas fawm & fou et sef § it aa
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(1) =FfE® 99 % 9

(2) SHifts d AETEE gH wE F
(3) VHIRE g9 & |
(4) Tagm =9

Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102




Frefeafaa Ty &t S Yae Tgeht SHUR M U9 i Heledh I gl :

e 99 § IR ey oiR T yg= e g1 difas faem & fore fmio el § wifes gm
e Uedel <1E USdT € | 9T Heeht o1 i & sveran Yerwil <51 fmfor, =g wfedi & i o fmior g stemn
fora w=i1 1 Tmio, = =i srgifereteii =1 o 81 stoen Fa-wrani & v, 9f §ara ga =1 &
T BT TRl § | A 2R R ot uee-gm F wedm & T gee 71

Id H0 JUH S0 &1 Tel 1 foham wie ufigm a1 sHifay &rst gum 8w o= -3aured | @1
el T @l
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(1) e fmior o

) Yer fAmio |

) Afedi & aredi & i |

) fare T % Sl % awfees fa o

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407
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Question ID:- 103

Frafafaa ey &t o gds dget SHU ST U9A T 9eieh ST e :

YR oW ¥ IR = $R W1 99 Edl g | sifae fawm & foa fmio sl § adite aa w
e YIS S USdl € | =18 WSehi ohl T & St Yerar o frmior, = e & st ot frwfor g stemE
forga =il w1 Fmio, =2 Seit argifersmedt s Frfor & sieen sa-swr@m i fwi, gt J 7ra gu o @
T B Al § | Aeh AR drenfentg Fatu-we ame- g9 % gedm & foe e gt

AT 1 Yo <9 € | Fel 1 foham Sfew uftsm St 81 sHifern sms g9 291 2F=-Scareq | &1
el S @ §

e 9H o WednT o forq §ea T8 § :

Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104




Frerfeafiaa ey ot ST Yo Uget SHUR ST U9 T Heteh ST gt

TR 99 9 IR @ IR 09 99 @ 21 oifas fawm F fau fmi wef F wwife g9 &
e W S USAT € | =18 Weehi o1 Frfor € steran el @ fFrator, = e o st o ot g syem
Torega w0 o1 oo, =g S srgiferenteti =1 Frmiror 21 s1eren e o1 Tt 9t § A g9 &6 &
T B9 W@l § | A IR Uit fat-wr aee- g8 F gedm % foe gue T2

AR F1T G S0 & 1 Tel 1 FFam wieT gy e &1 sHifan o a9 91 37-Seed | ST
el T @1

IH™ HHTH

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105

Freafafaa s ot o gds dget SHU ST U9H ot 92l SR i

yRif g9 | IR @R 3R WH 9= w21 difas faem & fau fmfn sl F wwifes aa =
e YoAs <1 TSdT € | e SRl ohl fHTor & s1eren Yot < fmir, = wfedi o st o Fmior g steen
forega St a1 fmion, = it sveifereRTedt s faior 21 steren st 1 fmio, geft & 7 o9 %1 &
T BT &l & | dies IR Uil fafn-=r ame- g8 % ged & fom gug 78

IE F1% JUH <0 & | Tel 1 fhae Hie aligq =t 1 sHifay & g0 8w of=-3aured § &1m
el = @
WA AT 3F1 Iedre | 3T &g @I &, Fieh ¢
(1) < e & St e &
(2) oM ga | ©dl % §
(3) T HfeT uftgg + §
(4) @Al H ek gas #1 sEHe e S ®
Options:-
.1, Option ID :- 417,

2

. 2, Option ID :- 418,
. 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106




(1) e
(2) TommaeR
(3 T
4 99
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

- 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

Options:-

.1, Option ID :- 425,
- 2, Option ID :- 426,
. 3, Option ID :- 427,

- 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

Frefafed s gl § qeam-qeye &1 ST g R

(1) STt - ST
(2) U - HH
(3) ™ - HH
(4) & - e
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109




Tr=farfag faemell seg—di § 35 2

(1) =Hifd - g
(2) e - W
(3) g - 34

(4) fifed - 7
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

Freferfad § wrwfy == €
(1) waw
(2) @A
(3) W
(4) TAE
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112
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(1) &rEn &

(2) A B

(3) THUH Tg

(4) H9F YL M A A
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

"’ A UE hl HeY TR = g g 2

(1) & &t =

(2) Torer =t faerd

(3) 7RI AR

(4) AT feAer
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

‘faeir aren’ fre faar =) @ &2

(1)  =hfad
(2) =EH
(3) FEW
(4) TR
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115
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(1) &g
(2) &S
(3) @AfHd
(4) ST
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116

‘“qra1 g "= 9 A9 W= R AR &l § 2

Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

- 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

Hfe arell ST’ AHE AT fReE 2

(1) ar s

(2) Hrs fawn

(3) Wil

(4) THYEEZ UE
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118




AMEl, Bt 3R HHSl 1 U 91 g fohg WA H 2 2

(1) SrEtars Herat
(2) =gy fareil
(3) HH i "Gl
(4) wEg-aie
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

Frefafad § Sfifdn wse © :
() wen

(2) THIEH

(3) ©

(4) <

Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

‘T N Gl Fesiel’ T o STHR U Saisy foh ST Hielt | Y o 5= ¥ ST 224 ol gSiE | O S9
frm ?

(1) ©Tel 3 =R 9

(2) &= S fe

(3) | ] e

(4) T FE SR AAH A A
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 4, Option ID : -480

Subject : ENGLISH_Q121-Q140_PRT24FEBSH2

Question ID:- 121




Read the passage given below and answer the question that follow.

Vikram Seth’s ‘A Suitable Boy’ (1993) is the only one of his novels to be setin India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra’s search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, but it can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

The novel is set . . .
(1) inthe US

(2) in Africa

(3) in India

(4) in India and the US together

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Read the passage given below and answer the question that follow.

Vikram Seth’s * A Suitable Boy’ (1993) is the only one of his novels to be setin India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, but it can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

The time-frame of the novelis. ..

(1) The British period in India

(2) The modern India

(3) The Mughal rule in India

(4) The immediate post-Partiion India

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
« 3, Option ID :- 487,

« 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488




Question ID:- 123

Read the passage given below and answer the question that follow.

Vikram Seth’s “ A Suitable Boy’ (1993) is the only one of his novels to be set in India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, butitcan be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

What thematic area does the novel cover ?
(1) education

(2) employment

(3) marriage

(4) old-age issues

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

- 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Read the passage given below and answer the question that follow.

Vikram Seth’s ‘A Suitable Boy’ (1993) is the only one of his novels to be setin India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,
« 4, Option ID :- 496,




Answer Given:- 2, Option ID : -494

Question ID:- 125

Read the passage given below and answer the question that follow.

Vikram Seth’s * A Suitable Boy’ (1993) is the only one of his novels to be set in India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, butit can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

In which ‘class’ has the novel been set in ?

(1) The neo-rich

(2) The rural zamindars

(3) The urban middle class

(4) The poor and downtrodden
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.
(a) 1is the largest

b) New Delhi railway station

) in the capital

d) in size and operational capability

(1) (b) (9 (d) (@)
(2 (9 (b) (@) (d)
(3) (a) () (b) (d)
(4)  (d) () (a) (b)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127




Rearrange the parts in correct order to make meaningful sentence.

(a) from the British rule
(b) all sections

(¢) of the Indian Society
(d) worked for freedom
(D) (@) (b) (c) (d)

(2 (9 (@) ®) (@

(3) (d) (b) (@) ()

(4)  (b) (0) (d) (a)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

Question ID:- 128

Fill in the blank with correct preposition.

The answer that he gave me was
(1)
2

besides
(2) beside
(3) from
(4 on

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

the point.

Question ID:- 129

Fill in the blank with correct preposition.

It seems someone is knocking
(1) to
(2) at
(3) 1in
(4 wupon

Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,

Answer Given:- 2, Option ID : -514

your door.




Question ID:- 130

Identify the correct tense form for the underlined words in the given sentence.

He has never reached his office on time.

—

e — e~
H= 3 bhJ
— e et e

Simple Present Tense
Present Perfect Tense
Past Tense

Past Perfect Tense

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the correct tense form for the underlined words in the given sentence.

They will be reaching the theatre in time.

—

I — — —
= 3 bk
— et e e

Simple Future Tense
Future Continuous Tense
Future Perfect Tense
Present Continuous Tense

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
This news / is too good / not to be / true.

(1) (2) (&) (4)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Identify the part which contain an error.
It has been snowing / in Shimla /since a week / now.

(1) (2) (3) (4)




Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Question ID:- 134

Choose the word nearest in meanjng to the given word.
WHOLESOME

(1) pure
(2) healthy
(3) filling
(4) fatty
Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

- 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

Choose the word nearest in meanjng to the given word.
JOVIAL

(1) merry

(2) laughable
(3) fantastic
(4) optimistic

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Choose the word opposite in meaning to the given word.
LENIENT

(1) mild

(2) cruel

(3) strict

(4) dominant
Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,




- 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the word opposite in meaning to the given word.
GIGANTIC

(1) shim
(2) weak
(3) tiny
(4) huge
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the part of speech of the underlined word.

Being austere in life, his needs are few.

(1) Verb

(2) Noun

(3) Adjective

(4) Conjunction
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
« 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
The policeman was running after the thief.

(1) The thief has been run after by the policeman.

2

(2) The thief was being run by the policeman.
(3) The thief was being run after by the policeman.
(4)

4)  The policeman was being run after by the thief.

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,
« 4, Option ID :- 556,




Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part in the given sentence.

All that glitters is not gold.

—_

— e —
= 3 bk
— e e e

Noun Clause
Adjective Clause
Adverb Clause

Principal Clause

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

- 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Subject : MATHS_Q141-Q160_PRT24FEBSH2

Question ID:- 141

What least number should be added to the smallest five digit number so that it is divisible by 48 ?

(1) 36
(2) 32
(3) 18
(4) 24

el SISt " sieh] arelt e 3 Sirel oy 5 o 48 9 faanfa & s 2

(1) 36
(2) 32
(3) 18
(4) 24

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142




A survey was conducted in Gandhi Nagar about the number of members in a family. A bar graph
is drawn to represent this survey :

¥ A

50 |-

[y
ja]
1

(€% ]
e
T

N
=
1

—
]
1

— Number of families

9% 4

0 1 2 g3 E
— Number of members

Based on graph, four statements are given. Choose the one which is wrong :

(1) Survey was done on 150 families.

(2) Maximum families have 4 members.

(3) Number of families having 6 members is triple the number of families having 2 members.

(4)

Difference between number of families having maximum members & minimum members is
40.




T TR § ftar % gewi % HEm % o ww gau R e | 3E wde w o) e 9 vefdie f e

(2)
(3)
(

Options:-

. 3, Option ID
. 4, Option ID

.1, Option ID :
. 2, Option ID :-

- 565,
566,
- 567,
:- 568,

2l
Y A
50 |-
Eém—
-E:m—
TZO—
10
0 1 2 [8 4 5 & X
— TEE F T
3H WF T SIRE IR F2 U T8 1 e 1 g )
(1) Fa= 150 9fEr] 9 fam 7=
2) AferpR ofErd o =R wee ¥

. e ATt IRERI it T, S Tel Al giERi i HeE it T
4)  FfEFaH T o AR A Heedl el URERi i He il S 40 )

Answer Given:- 3, Option ID : -567

Question ID:- 143

In Roman numerals
LIV) X (VI) is equal to :

(

(1) CEE XKV
(2) CCL XXXIV
(3) CCC XXIV

(4) CCC XIV




U &l o
(LIV) % (VI) 991 % :
(1) CCC XXXV

(2) (COL XXXV
(3) CCC XXIV
(4) CCC XIV

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Which of the following conversion is wrong ?
(1) 1kg=10hg

1
ldag = —
(3) 1dag=—g

(4) 1hg=100g

1 sy ° € $1F-91 9 8 2
(1) 1kg=10hg

1
(2) 1Tmg= 755 8
(3) ldag= 15 g

(4 1hg=100g

Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145




In a measuring cylinder some water is filled. Level of water is 12 mL and 15 coins of Rs, 10 are
dropped in it and level of water is now 30 mL. Volume of 20 such coins will be :

(1) 18 mL
(2) 20 mL
(3) 22 mL
(4) 24 mL

T {9 a9 H F9 I 9/ T E | 9T ER 12 mL g $R 35e 36T 10 T3 a7 15 faeei @6t g fen
T 3R 218 T SRR 30 mL B T € 1 39 WhR % 20 Tagi 1 emad B

(1) 18 mL
(2) 20 mL
(3) 22mL
(4) 24 mL

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

« 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146

Which of the following statements is wrong ?
(1) Every cube is a cuboid.

(2) Base of cylinder is a circle.
(3) Cube has 6 surfaces.
(4) Every cuboid is a cube.

frefafed o # 3 E-9 e 872
(1) W 59 Tsh B4 &l §1

(2) o (fafdel) #71 319R U 99 7
(3) T H 6 HeIH Ed
(4)

4) Ycdeh HATY Ueh ¥ &Il & |

Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147




Which of the following statements is not correct ?

(1) Sum of even and odd number is an odd number.

(2) Sum of two even numbers is an odd number.
(3) Sum of two odd numbers is an even number.
(4) Product of an even and an odd number is an even number.

frefafed wol § 9 SF-w w8t 72 & 7

(1) T\ IR faum G &1 4 v fawm den 2 g

(2) < T\ EEensd % A U fauy e g )

(3) < fomm Hemei =1 4n U 9H e B ¥

(4) U 9 iR U fovm Hen & quEhe U 9 HE gl € |

—_

2

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Sheena has sixty 1 cm cubes. Which of these cuboids she cannot build with these cubes ?
(1) 4 cm long, 4 cm wide, 4 cm high.

(2) 2 cm long, 3 cm wide, 10 cm high.
(3) 5 cm long, 4 cm wide, 3 cm high.
(4) 6 cm long, 5 cm wide, 2 ecm high.

I % I 1 em ST 60 B9 8 | 39 B § 98 39 | ShiA-H1 B Tl a1 Hehell § 7
(1) 4 cm 46, 4 cm =S, 4 cm 91
(2) 2cm @, 3 cm =€, 10 cm =
(3) 5cm @4, 4 cm A€l 3 cm 31
(4) 6cmﬁfm,5cmﬁ}@,2cmoﬂ

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Question ID:- 149




Which of the following options depicts the types of angles in increasing order of their measures ?
(1) Acute, right, obtuse, straight, reflex.

(2) Acute, obtuse, straight, right, reflex.
(3) Acute, right, obtuse, reflex, straight.
(4) Acute, obtuse, right, straight, reflex.

frefafaa fasedi § & FF-T1, 00 & A19l F YR ST 954 %9 § gyia 82

(1)  =JhIYI, HHRIVI, HATLrhHeHIv, FS[hIv, Fcerd
(2)  AehIvI, STER=RIT, B[RV, HHE, Hidaadm
(3)  =IASRIV, HHHIV, Hferehehlvl, Yidedi, Hhor
(4) IR, SRRV, FHERIV, BRIV, Hfcrard

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

If side of a square is 9 m 87 mm, then its perimeter is :
(1) 36 m34 cm 8 mm
36m 3 cm 48 mm

Hﬁ'@ﬁﬁaﬂﬂw9n1873un%,ﬁ3ﬂﬂﬁﬁqm%:
(1) 36 m34 cm 8 mm

(2) 36 m3cm48 mm

(3) 38 m 38 mm

(4) 39 m 48 mm

Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

- 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151




Shopkeeper purchased 3 dozens eggs at the rate of Rs. 58.78 per dozen. He sold eggs at Rs. 6 per
piece. His profit (in Rupees) is :

(1) 39.54
(2) 38.72
(3) 38.34
(4) 39.66

FHMSR A 3 TS 31 58.78 TIA Ufd S5 =l o H Wil | 394 fd 3721 6 TIF =1 o= | IHRT &1y (90 )
2

(1) 39.54
(2) 38.72
(3) 38.34
(4) 39.66
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

Number of squares in the given figure are :

(1)
2) 10
(3)
4) 11




m 9
(2) 10
(3) 8
(4) 11
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

On 26 December 2022, it is Monday. What day will it be on 20t March 2023 ?
(1) Monday

(2) Tuesday
(3) Wednesday
(4) Thursday

26 fegm=T 2022 #1 HHaR 2120 99 2023 1 FHE-41 faq 2 ?

(1) HmaEr

(2) HITAER

(3) THER

(4) FeEIfdar
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154




Number of hours in the month of February 2024 will be :

(1) 672

(2) 696

(3) 720

(4) 744

FEEd! 2024 % 9 H Hel w Hew ¥
(1) 672

(2) 696

(3) 720

(4) 744
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

1-2+3—-4+5—-6+ +151 on simplification, gives :

o=

— e —
W= 2
e
~J
o

1=3 845 =6 + +151 1 TS F T UMH B E

(1) 74
(2) 75
3) 76
(4 77

Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

- 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156




Which of the following fractions is greatest ?

_ 13
(1) ==
13
2 17
13
B 19
13
@ 3
et ol & § o ot wal WS B 2
13
0 35
13
2 17
13
3 19
13
4 3
Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,

« 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

A school has 850 students. If each student pays Rs. 12,336/ - as fees annually, then money collected
in a year (in Rupees) will be :

(1) 10486500
(2) 10485600
(3) 10405600
(4) 10447100




e forme o 850 fomnedt 21 afe yde famneft 12336/~ 93 anfi=s wig a1 2, @ w 9¥ § usla ofa
(¥ H) B S
(1) 10486500

(2) 10485600

(3) 10405600

(4) 10447100
Options:-

.1, Option ID :- 625,
- 2, Option ID :- 626,
. 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

A truck can carry 6548 kg of goods. Sujan loaded 48 bags of wheat. If weight of each bag is 105 kg,
then how many more such bags can be loaded in the truck ?

(1) 13
2 15
(3) 14
4 12

e 2% H 6548 kg WM 71 Hehal & | G - S 48 SR 1% % w18 | AfE T 9 1 R 105 kg & A0 F
H fora &R TE 9 e 571 HeAd & 2

(1) 13
(2) 15
(3) 14
(4) 12

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159




In a two storeyed house Beenu and Meenu share a water tank of 1000 L. Beenu consumed 474 .23
L of water and Meenu consumed 239.033 L of water in same day. Remaining water in the tank
is

(1) 285.747 L
(2) 286.440 L
(3) 286.737 L
(4) 285.637 L

T < Hfstel 5 H &7 3R H T 1000 L 3 9 ST PR N €1 UE e H S T 474.23 L U
ST I A 239.033L T o1 I94RT foran | Seht | 99 U 2

(1) 285747 L

(2) 286.440 L
(3) 286.737 L
(4) 285.637 L
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

Observe the pattern below and write the missing number (?)
8,7, 15,81, 63,2

(1) 95
(2) 127
(3) 128
(4) 255
e e =1 Y #ifsw Siv foqm Hen fafe -
3,7,15,31,63, 2.
(1) 95
(2 ‘127
(3) 128
(4) 255
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,




« 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT24FEBSH2

Question ID:- 161

Given below are two statements : one of them is labelled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below.

Assertion (A) : The use of diesel and petrol as fuels in automobiles is being replaced by CNG
(Compressed Natural Gas) now.

Reason (R) : CNG produces Sulphur and Nitrogen oxides in very small quantity. Along with
this CNG is a cleaner fuel.

1)  (A) and (R) both are true and (R) is the correct explanation of (A).

2)  (A) and (R) both are true but (R) is not the correct explanation of (A).
3) (A) is true but (R) is false.

4) (A) is false but (R) is true.

— —" — —

Fr9 &1 e fau U ¥ | v 1 1R (A) SR TEE %1 RIOT (R) Fel T | A1 fEU e Fe i Herm

T U I H T HL

ATUHYT (A) : T AR H 584 o B H Sroiel SR YIal ol T 379 LU 1. (Hitfed wrpfass 1)
AT

HTT (R) : 1.0, 5. Gowd AR AE2eH & AR F SeqeT Hed WAl H wEl T | Wy-g-9iy
sl w3 E= 349 2

(1) (A) 3R (R) 21 W&l & iR (R), (A) I F&l =7 &4l 2 |

(2) (A) 3R (R) T T2 & W (R), (A) i Tl A Tl Ll & |

(3) (A) H&l & W (R) T

(4) (A) T T W (R) A T

Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Below are two statements. Choose the correct answer from the given options :
Statement (I) : ‘Teflon’ is used for non-stick coating on cookware.

Statement (II) : ‘Teflon’ is a special plastic on which oil and water do not stick.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.




= & s feu mu ) fou gu fawredi § & @@ s # =EH

HY (1) - ‘ToA AISH T F Y R T A At 79 o e % e S ¥
HUA (1) - ‘o’ U fafew wifes € o | aa ok 5ia fauswa 76 71
(1) = (1) 3R () <1 9e §)

(2) A (1) R (1) H e € )

(3) A (I) Hel € W A (II) TTerd 5

(4) U (1) Terd § T Fe (1) TR

Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Which of the following is done in the process of pasteurisation for removing microorganisms from
milk ?

(1) The milk is heated to 70° C for 15 to 30 seconds and then suddenly chilled and stored.
(2) The milk is heated to 100° C for 4 to 5 minutes and then suddenly chilled and stored.

(3) The milk is chilled at 0° C and stored suddenly.
(4)

4) The milk is heated at 50° C for 3 minutes and the cream is removed from it and is stored
without cooling.

Y I GEASHEl | b H o [oT0 GRERIH i Wik ¥ fFrefafea § @ @ fr s 2

(1) T H 70°C W15 -30 e & forw 7 F3a £ it whius S8 Fh SHe Herv X o €1

(2) Y H100° C W 4 -5 2 G Iae § o THTH S hleh A HERU F & ¢ |

(3) TH W 0°C R I FLh UHTH SHHI HSRI F & 3 |

(4) BH W 50°C W 3 e d% T itk 34 "ol fektet forn st € T fam Set forg gy 1 siery
& T sm

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164




Which of the following is an antibiotic ?
(1) Sodium bicarbonate

(2) Streptomycin
(3) Alcohol
(4)  Yeast

freafafes § 9 $a-m gfasfas €2

(1) Hifeaw FEEHEH
(2) EFemEET
(3) UehRA
(4) F=
Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165

Which of the following is related to irrigation ?
(1) Moat, Chain-pump, Rahat, Ploughshare
(2) Moat, Chain-pump, Dhekli, Ploughshare
(3) Rahat, Seed-drill, Plough, Dhekli

(4) Moat, Chain-pump, Dhekli, Rahat

frefafad § | =m foaE 4 defua €2

(1) #re (faft), =7 779, we (SHeh), Fd
(2) Hre (o), =9 9w, TFal, wa

(3) @ (3TreTeh), Hre-gid, e, dahal

(4) e (FreT), =7 T, e, e (SHe)

2

Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
. 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166




In the context of manure, choose the correct answer from the options given below :
(A) Manure is Carbonic (organic) substance.

(B) Manure is obtained from plants or animal wastes.

(C) Decomposed matter is used as manure.

(D) Manure does not provide humus to soil.

(1)  Only (A) and (D)

(2) Only (C) and (D)

(3) Onlv (B), (C) and (D)
(4) y (A), (B) and (C)

TR % ded H 9 fou v famredi =t 98 § |l 3T FH T H -
(A) W& U Frafen (Sifasw) veref #1

(B) @ drei A1 5ig S7afee | W Bt g1

(C) sryefed verd WR % &9 B S9N feman s g1

(D) & | gl =1 gr JmH & 2l |

1) & (A) 3 (D)
2) %94 () ¥R (D)
3) e (B), (O) ¥R (D)
4) e (A), (B) 3R (Q)

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

Sometimes in summers, white patches are formed on our clothes especially in areas like underarms
because of :

(1) Urea present in sweat.

(2)

(3) Ammonia present in sweat.
(4)

Salt present in sweat.

Water present in sweat.




Fef-wmeft T F Tt o Fuei W, favveR +ie F o-u wthe gy famrd <9 € 1 98 fRme R g
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(1) °HA § A R o HRo
(2) 9EH H HI§E @9 F HH
(3) IEM H HeE THE F HR
(4) TEH H A I R
Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168

The topmost layer of soil is :
(A) Soft

(B) Porous

(C) Retain less water

(1) (A) and (B)

(2) (B)and (Q)

(3) (A)and (O)

(4)  Only (C)

Tl 1 o S0 T Bl 81
(A) Hs

(B) #iY

(1) (A) iR (B)
(2) (B) ¥R (C)
(3 (A) ¥R (C)
(4) wEd (O)
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169




Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Toucan Bird has long and large beak.

Reason (R) : Toucan’s beak helps it to reach the fruits on branches which are otherwise too
weak to support its weight.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) (A) is false but (R) is true.

Fra & gerer fou o E | v Y sifireRe (A) SR TEY 1 SRIOT (R) FE1 T | e T e w5t war
T TE I H T FLA

fRIM (A) : 2o Ul i =i o SR I et 2

WROT(R) : o i =9 SH 37 Tl H1 Sl 9F T § 7 Fl € Sl 9gd HISIR kil § 3IR-
IR YT HE e Hehell |

(1) (A) 3R (R) S 9&1 €, iR (R), (A) T Fe A HT 2 |

(2)  (A) 2R (R) S W E, T (R), (A) T HE AT A FA1 T

(3) (A) W&l §, 9 (R) Tod €|

(4) (A) T 8, T (R) TR

1
2

Options:-

.1, Option ID :- 673,
- 2, Option ID :- 674,
. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Below are the functions related to the “Tongue’. Choose the correct answer with the help of given
codes :

(A) It breaks down sugar into starch.

(B) It mixes saliva with the food.

(C) Tongue has salivary glands over its surface.

(D) It helps in detecting taste of food.

Code :

(1) (A) and (B)
() (B)and ()
(3) (B) and (D)
(4)  (A) and (O




1= sita’ | Heiftrd % fou € ) feU BT e 1 werEd § HEl ST Hl A Y
(A) TE WhU I He H aerd 8 |

(B) =® @M H @R foant T

(C) 5! Fag W AR Ui &l B

(D) @M % I %l Te=H HAl

< :
(1) (A) ¥R (B)
(2) (B) #R (C)
(3) (B) ¥R (D)
(4) (A) 3R (C)
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 3, Option ID : -679

Question ID:- 171

Which of the following is true about “Seasonal Migration’ ?

(1) It always happens during the rainy season.

(2) Itis always that all the members of a family migrate to other areas.
(3) It always happens from the rural areas to the urban areas.
(4)

4 It gives a source of income to the landless labourers.

et § @S- iy ‘Hige g’ % el § wdl #2
(1) =% e a9 kg H TR

(2) EH UfER & Tt HeT U TIH U gE TIH &1 SN W € |
(3) T TN UTHIOT &5 | IR &5 Y SR BAAE |
(4) =® R gl 1 SIS 1 U i <1 2

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172




I was five years old when I saw the picture of Neil Armstrong landing on the Moon. I set a new
world Record for the longest space flight by a woman. Who am 1 ?

(1) Kalpana Chawla

(2) Sunita Williams

(3) Sally Ride
(4)

4 Peggy Whitson

# Org A &t ot 5@ Y i S #1 Fie W Sad g0 Rl o ! | 59 sfale § wad &9 99y 9% @A
aret afeen % w9 H favg e a2 1§ &F €2
(1)  eu e

(2) g faferaes

(3) Helt WwE

(4) Tt ameEa
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

There are some plants which hunt / trap mices, frogs, insects and small animals. Nepenthese is
most famous amongst them. This plant is found mainly in which part of the country ?

(1) Kerala

(2) Andhra Pradesh
(3) Himachal Pradesh
(4) Meghalaya

Fo TR T off 20 ¥, S =, Hewl, Fe-Twre ofv B Sl w1 e F ¥ 3 fem vl s
YR B | A WY 9RA % A § TF H g I S © 2

(1) oXa

(2) 1Y Yew

(3) femra W

(4) HEH
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

- 4, Option ID :- 692,
Answer Given:- 4, Option ID : -692




Question ID:- 174

Children's Right - ‘Mid-day Meal" - is given to children of which classes ?
(1) Class1to6

(2) Classlto5

(3) Class 1to8

(4) Class 1 to 10

o= F eF- -’ (TR ) -FRT el % 9= w e s ® 2
(1) HH1-6TH

(2) HE1-57H
(3) HE1-87F
(4) & 1-10 T

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

You are working in a software company of America. Over approximately seventy five years ago,
your grand-father came from ‘Dera Gazikhan' and got settled in New York. The ancestral residence
of your grand-father would be in which country at the present ?

(1) Afghanistan
(2) Pakistan

(3) Bangladesh
(4) India

11 e % Tl Airessr st § & & €1 o § e 75 5 ueel $oe el S s w e
Y Rt = B w9 0| 319k Srersi 1 Ugen famy woe adum # fem S H stafem #2

(1)  STEAET

(2) uifeREaH

(3) @Ry

(4) Rd
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,
« 4, Option ID :- 700,




Answer Given:- 3, Option ID : -699

Question ID:- 176

Fill in the blanks by choosing the correct option from the code given below :
I have come from Molan Village in . It rains heavily in our place. Hence, our houses

are made almost ten to twelve feet above the ground. They are made on strong bamboo pillars.
(1) Nagaland

(2) Tripura
(3) Sikkim
(4) Assam

=i fou U Fe § § wel faskey g T w9/ &t gfd &)

H % Hie TE W S F | AR R g AR B B S g e SEHE ¥ e <9 ¥ g
T2 9 99 B € | 5% Here o919 o Gl T 9 § )

(1) HTmes

(2) Fgu

(3) fafEw

(4) T

Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Our eyes tell a Iot.

Statement (II) : Small children tell a lot through their face and hands even before they learn to
speak.

Statement (I) and Statement (II) both are true.
Statement (I) and Statement (II) both are false.
Statement (I) is true but Statement (II) is false.
Statement (I) is false but Statement (II) is true.
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= & g feu e €1 fou gu fasradi & § wdt s o =9 A

| - (I) : B U SE] ¥ 9gd T Fed ¢

HYA - () :  BIe T G Sier Hiad 9§ gel € o 5o #ad € - 9w g, g 9
(1) e (1) 3R (M) 3T Tt €

(2) e (I) 2R (1) EH TTerd 2

(3) YA (I) Tl & W F (II) Terd € |

(4) @A (1) TeTd € Tig A (1) T 2

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

Below are two statements. Choose the correct answer from the given options :

Statement (I) : Poems and songs related to water that are commonly sung or recited locally should
be shared in the classroom.

Statement (II) : This will bring children closer to their community and arts of their region.
(1) Statement (I) and Statement (II) both are true.
2) Statement (I) and Statement (II) both are false.
3) Statement (I) is true but Statement (II) is false.
4)  Statement (I) is false but Statement (II) is true.

(
(
(

= e feu e € fou gu fomedi | ¥ 9@ ST &1 9 HR
WY - (1) : T YIS A GAE S Al 9 8 S[El wfaand 3R Tia wan § |ien e s

=g |
HUF - (1) :  THH 319 HHEE & FH 2R el e i == 1 e 9 |
(1) = (1) 3R () <H =@ )
(2) A (I) @R (1) EHT e €1
(3) YA (I) W& & W FH (1) Terd & |
(4) HUA (I) Tad & W FHeA (1) Fal ©
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179




Which of the following statements is true :

(1) Excessive use of fertilizer leads to increase in the crop production. Along with this, it also
increases the fertility of the soil.

(2) We should use fertilizer instead of organic manure to maintain the fertility of soil.

(3) Field should be left unsown for some time between the plantation of two crops, so that
fertility of soil can be maintained.

(4) Manure increase the soil’s composition and its water retention capacity.

Frefafad Feel 5 9 SF-91 %9 98 87

(1) 3! &% AAF ST G FHe i T=51 3 UTH Sl 8| Ty € e iy i s off st ® 1
(2) THET o1 Sl 9T TE o foiu B4 Sifoek &g o T UL 36Teh] &l STANT LA 91e |

(3) = el & S | @d Hl FW 99w o far 3w s sie & =ife e S i Sed o+ w
(4) ST ok SUEM Y THET & e Ud S e i et H gfg €6t €

Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Choose the correct option from the given statements.

(A) Lions have small claws in their front legs that can be withdrawn inside the toes.
(B) Deer’s long ears give them information about the movement of their predators.
(C) The eyes on the sides of deer’s head help them to find the directions of danger.

(1) Only (A)

(2) (A)and (B)

(3) (A) and (O

(4) (B) and (C)

frafafes wo=i 9 9 98 =1 =99 &

(A) IR F T T F TG DR BN E, R 7% uRifor F i et fow v B
(B) T&ta % el & 39 forrrdt =it wifafafy =t Sepit <d 21

(C) e & fr & wiwd § €1 oin feem i@ vy feon # SRt @t Hegy Y Gehdl €
(1) = (A
(2) (A) SR (B)
(3) (A) 3R ()
(4) (B3R (©




Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 4, Option ID : -720

Print ResponseSheet



